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900,000& 122 10,800
03 A= SHI 31,000 36,000 /5,000




SN SENASSH
M ogloldiciotere 24
Cel: ololtCttsret 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ousoz )l 24 23,000
-EQEYVSDA 2Y
5,000,000 43| 20,000
FoiE (A IRZ2IY 29
3,000,000& %12 3,000
OMEZ208 2(4 0120, 54, XWAS)
2,000,000 *43] 8,000
202 04t 800 800
01 =LHOHI 800 800
Ourst2t g8amg |RIE A 220
200,000 x2H*23] 800
206 M2l 13,680 17,280 3,600
01 =l 13,680 17,280 A3,600
O Gz BE oA7eY
20,0002 10004 2,000
O ZAB UEZ2HE YT 7Y
600,000 x2JH*23] 2,400
OMEAEE MHE(RE) 7L
100,000& 395 3,900
O&AIA I & &HoIE e
2,000,000& *14] 2,000
O3x)| 0itiIS2H 7Y
85,0002 *28H 2,380
OM&Eeg dAlg MEx+ F
50,000& *20K 1,000
301 22N = 80,640 54,000 26,640
14 JIEt2 = 80,640 54,000 26,640
OEzE dHI24d=
60,0002 «8E * 142 * 122 80,640
401 Al HIZ S 0HbI 80,000 50,000 30,000
01 Al&H| 80,000 50,000 30,000
OTANANES(B22E) £X SA
30,000,000 x14] 30,000
O3Z42D1(35) uH &£X
50,000,000& * 14! 50,000
HY2HZH(SEXHAES ) 122,174 122,068 106
QAR AHH|(SEXAAIL S 2) 40,838 41,432 axeie
QIA2IH(SEXAAILS2) 40,838 41,432 NGt
101 21A4H| 40,838 41,432 aNeieT
01 2= 40,838 41,432 VAN
Oxz=2 2= 40,838
-542f>g
100,091 2«18 %1/3+68 40,838
JI2ZU(SEXAAELS ) 81,336 80,636 700
Jl2ZH(SEXHAER) 81,336 80,636 700
201 er2&| 35,256 34,55 700




SN STXSALSH
Hu: By
|

el

RN - I BRA(E) - HRA - BES of v A
01 At2t2ltl 35,256 34,556
2ot=ZH| 11,676
-JIZ2ARESHI 100,000 * 18 1,800
-cllOld =2l &l
237,000& »2H*42] 1,896
-SAD EH 2
150,000& 4 E+62 3,600
~=AD| S8 mA 330,0002%25] 660
~=ABX PY
23,0002 ¥10% A 122 2,760
YA HRE ME 80,0002+ 122 90
ouxz 1,680
-ARA =8| gxiE
140,000& * 122 1,680
Oo2g+d¢ 21,900
L= G 60,0003 x1H*365 21,900
202 04| 43,200 43,200
01 =LHA I 43,200 43,200
Ogtsd R4 2U04]
20,0002 x 182 *102|x 12 43,200
203 gR=8| 2,880 2,880
04 FAEEYRFAH 2,880 2,880
OSETAAMYE 2

300, 000& * 122 »80% 2,880




